



$$(4x^2 + xy - 3y^2) dx + (-5x^2 + 2xy + y^2) dy = 0$$

$$(4x^2 + xy(x) - 3y(x)^2) + (-5x + 2xy(x) + y(x)^2) \frac{dy}{dx} = 0$$

$$4x^2 + xy - 3y^2 + (-5x^2 + 2xy + y^2) y' = 0$$

$$y(x) = V(x) \cdot x \quad \frac{dy}{dx} = V(x) + x \frac{dV}{dx}$$

$$4x^2 - x(Vx) - 3(Vx)^2 + (-5x^2 + 2x(Vx) + (Vx)^2) \left(V + x \frac{dV}{dx} \right) = 0$$

$$4x^2 - x^2 V + 3V^2 x^2 + (-5x^2 + 2x^2 V + V^2 x^2) \left(V + x \frac{dV}{dx} \right) = 0$$

$$4x^2 - x^2 V + 3V^2 x^2 - 5x^2 V + 2x^2 V^2 + x^2 V^3 + (-5x^3 + 2x^3 V + x^3 V^2) \frac{dV}{dx} = 0$$

$$4x^2 - 6x^2 V + 5x^2 V^2 + x^2 V^3 + x^3 (-5 + 2V + V^2) \frac{dV}{dx} = 0$$

$$x^2 (4 - 6V + 5V^2 + V^3) + x^3 (-5 + 2V + V^2) \frac{dV}{dx} = 0$$

$$\int \frac{dx}{x} + \int \left(\frac{-5 + 2V + V^2}{4 - 6V + 5V^2 + V^3} \right) dV = C \quad \text{Solución General.}$$